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And one who removes honeycombs - w27 Mon T

Overview

The Rn>"2 cites a dispute regarding one who removes a honeycomb (from a bee
hive) on v"y. ArY°%X " maintains that he is Mp%n 2»n (if he did it 7°»2), while the
0°27 maintain that it is merely a 1312772 M1aw. Our MdOIN discusses why there should
be a MmpYn 2R, since waT mMn are food which can be eaten on v"Y and one is
permitted to do certain MdXY7 on v"y if they are done in order to prepare food.

nvoIN asks:
— 9TPIHN 395 290 B2 NPIY INNPN PNYS 135395 11N

The 5'"1 is astounded! Why, according to X', does he receive lashes for being

W27 MYN 7717 on ¥''YY; the question is not limited to X" -
= 1nOND1 NY 2AWN XYT DIVN RIN 2D XD 1) 13299

And the only reason the 3229 argue with X"7 (and maintain it is a M2w) is only

because they do not consider w27 n7m 7717 as a 798913 however if it would be a 7987

they would agree with X" that he is 71?1?; but how can this be -
= 4253 WD) DN NIN NAWD 210 D 12 PN (3,1 97 NINNT NNP P93 195 XM

But we learnt in a ;73w» in the first pap of 79%» noon, ‘there is no difference
between ' and naw (regarding 7oX7n MMOXR) except for the ndX which are

needed for ws1 218 exclusively (which are permitted on v"1 [but not on naw]) -
= 3993 DOIN 997U 4N MMIN 2NNNY va9

“'"1 said that even w21 28 Y%’ are permitted on v"v. This concludes the 71wn (and the
Xn*12).

= 1997991 N NIN DO AW’ 172D NN “RIP 9N NNP NINT RNIYOY INHD NI 9IND)
And the X923 there explains, ‘what is the reason of the »''n that they do not permit
w51 9 1Wwon, because the verse states ‘only that may be done for you’, meaning

‘X7 (that)’ the wo1 921X may be done, but not the 7"wsn of wo1 70N’ -
- 959 25N9) NI 29N NN 22N

And "1 maintains, '¥7' is written (which is an exclusion) and 'as%' is written

! The 1121 argue with X"9 regarding w27 m»n A7 y27nmM 72007, The reason the 7327 consider 2 72017 a Maw is
certainly because they do not consider it a 7oX?7 since it is 11907 1°X [see previous 722171 13"7 '0n]), therefore since all
these cases (121 777 y27nmM 72017) were taught together, the reason for considering them a n1aw are (presumably)
the same (but it has nothing to do with w91 921X 7%, since 72711 7257 are not WoH1 92K TNX).
2" is not mentioned in the 73w» but rather in a Xn*>12 following the mawn.
3 wo1 92X means work that is directly required to prepare food for eating, for instance cooking. w91 721X wan
(enabling w91 921R) is work that enables one to prepare food, for instance chopping wood in order to make a fire.
4 The P03 in 18,2> (X2) NPW reads, 2 ArY> 972% R WD) 22 2287 WX TR 072 7y K2 7I87H 23.
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(which is an inclusion) -
=919 YWAN ANV 1297V NI 2V DY 29¥1) MUY TWARY P97V )N

Here (the exclusion of X177) 1s discussing 1°w>» which one could have done from
v'"y 29v (those are excluded and not permitted to be done on v"1"); here (the
inclusion of 23%) is discussing > ws% which were impossible, etc. to do v"» 2w
(those are permitted to be done on ©"1*). This concludes the citation from the X773, N190IN continues

with his question -
- S9WONA 1D2AN NN 929 99 WY UOINT HYon

We can infer that ws1 %218 (not w1 75R >7°won) is permitted according to '

even if it was possible to do it v"v 27 -

- YOI DOINA ND) 19959910 NON 2999 NYT ¥1Wn 29I 1329
And it seems that even the 3329 do not argue with *"1 regarding wo1 92X that it is
permitted even if 0"v¥n TMWYH WK, they only argue regarding 3°"wsn that it is
TOK even if ©"1YR INMWY? R"K, but not regarding wo1 Y338, which is 2 on v", even
though it was v"vyn Imwy? TwsR. The question is that since w27 M>M 7777 is a WH1 YW TN, it
should be permitted according to everyone, and there should not even be a maw and certainly no

npon arn.
= 75PWr9979 NN Y299 NMYYIa 109 41

And additionally this Xn>392 is according to 3''9, as I explained, so it should certainly

be permitted.
= 17119 9395 920 NYIIN 2297 12N (3,197 97 1pY) PN P97 Sy

And furthermore, for in 9910 P95 the X713 states that X' agrees with "1 regarding

Wo1 9 WO -
=20 DY 299N 1511\’))’5 YWAN 199N Y9V NI Y2979 NOITYY

And X" is even more lenient than 5''9, for X" permits w51 52X *won even if it is

possible to do them w'"5¥7%. So why is it that here X" is M1 211 for one who is M1 777
w27, when it is w91 991 -

mooIn responds to an anticipated resolution:
= UPN DIPN YINT DIN TINKY N1192 9999107 9929100 NI

5> The exclusion of X171 (prohibiting 7o%7% which was able to be done v"1'vn), was only regarding wn1 2R *wan, but
not regarding w91 921X which is permitted on v"v even though it was possible to do it v"y 27vn.
¢ Even if we should maintain (not as M201n just assumed) that according to the a°»on for w192 to be 7N it must be
only in a case where v"1yn ImMwY? K"K, and these w27 M1 were able to be removed from v"1 27y, therefore according
to the o°no17 it would be an N1aw MoK, but according to > who is w91 92 °nn even if B" YR INWYH WOKR, it should
be 9 and there should certainly not be a nyp%n 211 (for this Xn>>12 follows the view of ™).
7 See 271177 "7 'on [TIE footnote # 8].
8 mooIn is anticipating a possible resolution; perhaps this which '01n mentioned previously that this X092 follows >"3
that is only regarding that 11207 1°X is 0K (see footnote # 7), however regarding w1 923 [*won], perhaps we follow
the view of the 13127, who may maintain that even w1 921X is only permitted if v"1°2 AmWwy? R"X (see footnote # 6).
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And we cannot answer that we are discussing a case where he is 77 for a
weekday need,” so therefore this is prohibited; for nevertheless there is still a
difficulty -

= (3,1 97 ©nos) 109992Y 1IN P92 PHIIN N0 S¥DPN INY DININ MY NINT INID
According to the one who maintains in 772w X p-5, ‘since if guests would

chance upon him’ -
= 2NN DNN NP7 NN NP9 TYIIN 2297 L1y

And additionally X'"9 himself maintains there that we say %'831! The question
remains why is he 2°11 since this is w91 921X NoXon.

N190IN answers:
- 1215938 11 5TN RYT NOWNY TND N3 IPING XIINT PNYY 13539 INIIN)

And the "1 says that we can establish this ruling in a case where he was 17719 close

to nightfall (of v"1 °X¥), so it is no longer suitable for guests.
- NDPINT TN NDT BANINA MON IN ¥IATHVY WaATL 90 ON

Or it may also be discussing honey which was spoiled or it was forbidden to
derive benefit from it, in which case it is not fit to eat, so therefore he is 271.

mooin asks:
= 1499WANA 199N N9INN 119 21V 093 123D ININT 1193 PN 139290 NN 1N

However the >'1 is still astounded; since it is permitted n'' ;1% to make cheese on
u'", even if it was possible to make it v"vyn -

— VAN N7 NIN 1929719 991 NN XD 199N
So even if it is not J3297% 2N to make cheese on ©"1> unless it is X''R to make it 0"y,

we will have this question; if 0" it is 7237 20 -
- 210 D2 IMNAY 9N XN 2V D1 1H%2 Y9 )5 DN

Therefore it should turn out that if one’s house collapsed on ©'y he should be

% He plans to eat these w27 M after u"v.
19 The X ma there cites a npY2nn regarding one who bakes on "y for a weekday. X701 27 maintains he is 21, while
X217 maintains that he is 7o, The reason why he is 7» is that (even though he baked it for tomorrow, however) if
guests were to come today (on v"1*), he would use it today, therefore it cannot be considered that he baked it exclusively
for a weekday. This 2071 is called “?R¥7° (since). According to X237, even if he was 7711 the wa7 nYon for 711, he should
still be 7wy, because of RIm.
"' mpon is adding that the question is not only on X327 (who maintains 2°X17), how will he explain X", but rather the
question is on X" himself.
12 The case of w271 M1 AN is where he was 7717 for the next day (weekday), and the concept of X171 will not apply
because he was 7717 on v"y right before vy *X¥1 so no guests will come in time to serve them the w27 M>n, therefore
since he did a 79891 which was not w51 728 77 of v"v, he is 21 (according to X").
13 The entire hive was used as an offering to an 777 7712v.
14 See footnote # 5 that by wa1 9o it is 1M even if 0"1PYA ANWY TWOX.
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permitted to rebuild it on ©''y -
- 79989 RO 593 AN THIDA TINTI 1611313 DIV 5D 1AMT TNEY 1933 ANV BN

For since the 1ox%7 of ‘building’ (77292) was permitted for ws1 H01x 77x, for j23%
(making cheese) is considered ‘building’ as the X nx states shortly, it is also

permitted wo1 501X 771%H ROW -
= UNYI 39V 15 XHY 19103 DIONRY 01N TN XNOPYW 12539

Provided that there should be a need for this building today; which there is, for
he is rebuilding it in order to eat inside and that the heat and the sun should not
strike him —

NID0IN answers:
$290 DA ATPINY NNV PNONRYT 2591 99 DINT XTIV 1T 19297 VIONRT 90219 W

And one can say that rebuilding a house is J2297% 7K for it is a ‘weekday work’,

just as grinding grain and sifting flour are prohibited 712772 on ©'"'Y° (even though
it is w1 KX TN¥Y), because of its ‘weekday’ nature; it is not appropriate for v".

Summary
One may be w271 m>n 777 on (n"77) v"v unless the honey is spoiled or X372 70K,

One may not build on v"v (even though 112 was 72°23 7182 7M7) because it is
2T RT2W.

Thinking it over
1. May one harvest vegetables on 779738 77x5 v"?

2. What is the connection between the second question of '01n (that 712 should be
v""2 7M7) and the first question of '0I1n (regarding w27 mn 7777)?Y

15 There is a rule that since (717) certain M2XY7 were permitted for wo1 921X on v"Y, these same MIXY1 are permitted
even wo1 93X XY XKW (provided there is some need for it on u"1). For instance one may carry food on v"y in order
to eat it; therefore w1 KR 7ML ARYIT 7MW TINA it was also WoH1 791X TNXH KO 71M17; we may carry other items we
need for v"v (such as a M7°0 to daven) even though it is not wo1 921 7N,
16 One is not permitted to make cheese on Naw because it is considered building; we are building up the liquid milk
into a solid block of cheese. However on v"1 it should be permitted (at least ") for it is wo1 92X 778, The question
is since 712 is W1 92X JNEY N1 it should be AN even wo1 HIR T NEH ROW.
17 See footnote # 14. See also *» v naw.
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